

This is the author's final, peer-reviewed manuscript as accepted for publication. The publisher-formatted version may be available through the publisher's web site or your institution's library.

Large-time behavior of the weak solution to 3D Navier-Stokes equations

A. G. Ramm

How to cite this manuscript

If you make reference to this version of the manuscript, use the following information:

Ramm, A. G. (2012). Large-time behavior of the weak solution to 3D Navier-Stokes equations. Retrieved from <http://krex.ksu.edu>

Published Version Information

Citation: Ramm, A. G. (2012). Large-time behavior of the weak solution to 3D Navier-Stokes equations. *Applied Mathematics Letters*, 26(2), 252-257.

Copyright: © 2012 Elsevier Ltd.

Digital Object Identifier (DOI): doi:10.1016/j.aml.2012.09.003

Publisher's Link: <http://www.sciencedirect.com/science/article/pii/S0893965912004065>

This item was retrieved from the K-State Research Exchange (K-REx), the institutional repository of Kansas State University. K-REx is available at <http://krex.ksu.edu>

Large-time behavior of the weak solution to 3D Navier-Stokes equations.

A. G. Ramm

*Mathematics Department, Kansas State University, Manhattan,
KS 66506, USA; email: ramm@math.ksu.edu*

Abstract

The weak solution to the Navier-Stokes equations in a bounded domain $D \subset \mathbb{R}^3$ with a smooth boundary is proved to be unique provided that it satisfies an additional requirement. This solution exists for all $t \geq 0$. In a bounded domain D the solution decays exponentially fast as $t \rightarrow \infty$ if the force term decays at a suitable rate.

Keywords: Navier-Stokes equations, weak solution, uniqueness theorem
2000 MSC: 35-XX; 76D05

1. Introduction

Consider the problem

$$v' + (v, \nabla)v = -\nabla p + \nu \Delta v + f \text{ in } D, \quad \nabla \cdot v = 0, \quad (1)$$

$$v(x, 0) = v^0(x); \quad v|_S = 0. \quad (2)$$

Here $v = (v_m)_{m=1}^3$ is a vector function, $v' = \frac{dv}{dt}$, $D \subset \mathbb{R}^3$ is a bounded domain with a smooth boundary S , $\nu = \text{const} > 0$ is the kinematic viscosity coefficient, v^0 and f are given functions, v and p are to be found. We assume throughout that $v^0(x) \in \dot{H}^1(D)$, $\nabla \cdot v^0 = 0$, and $f \in L^2([0, T]; H^1(D))$ for any $T < \infty$. We also assume that f decays fast as $t \rightarrow \infty$. Precise assumptions will be formulated in Section 2, in the proof of Lemma 2.1.

We use the standard notations: $\dot{H}^1(D)$ is the closure of vector-functions $C_0^\infty(D)$ in the norm of the Sobolev space $H^1(D)$; V is the closure in $H^1(D)$ of the subset of $C_0^\infty(D)$ consisting of solenoidal vector fields, $\nabla \cdot v = 0$; (u, v) is the inner product in $H := L^2(D)$ of two vector functions in \mathbb{R}^3 ,

$$|u|^2 := (u, u), \quad ((u, v)) := (\nabla u, \nabla v), \quad \|u\|^2 := ((u, u)).$$

Definition 1. A weak solution to (1)-(2) is a vector function $v \in W := L^2([0, T]; V)$ satisfying the relation

$$(v', \eta) + ((v \cdot \nabla)v, \eta) + \nu((v, \eta)) = (f, \eta) \quad \forall \eta \in W. \quad (3)$$

One proves that $(v', \eta) \in L^1([0, T])$ if $v \in V$. Indeed, $((v, \eta)) \in L^2([0, T])$ because $v \in L^2([0, T]; V)$ and $\eta \in V$, so $\eta \in L^\infty([0, T]; V)$. An integration by parts and Hölder's inequality yield

$$|((v \cdot \nabla)v, \eta)| = |-(vv, \nabla\eta)| \leq \|v\|_{L^4(D)}^2 \|\eta\|.$$

Here $(vv, \nabla\eta) := (v_j v_m, \eta_{m,j})$, over the repeated indices summation is understood, v_m is the m -th Cartesian component of the vector function v , $\eta_{m,j} := \frac{\partial \eta_m}{\partial x_j}$. We use below the multiplicative inequality

$$\|v\|_{L^4(D)}^2 \leq c|v|^{1/2} \|v\|^{3/2}, \quad c = \text{const} > 0,$$

(see [5]), and the Young's inequality

$$ab \leq \frac{\epsilon^p a^p}{p} + \frac{\epsilon^{-q} b^q}{q}, \quad \forall \epsilon > 0; \quad \frac{1}{p} + \frac{1}{q} = 1, \quad a, b > 0.$$

By c we denote throughout this paper *various* positive *time independent* constants. Using the Young's inequality with $\epsilon = 1$ and $p = 4$, one gets $|v|^{1/2} \|v\|^{3/2} \leq \frac{|v|^2}{4} + \frac{3\|v\|^2}{4}$. Since $|v|^2 \in L^1([0, T])$ and $\|v\|^2 \in L^1([0, T])$, it follows from equation (3) that $(v', \eta) \in L^1([0, T])$ because all other terms in this equation are in $L^1([0, T])$. If (3) holds for all $\eta \in W$, then it holds for all $\eta \in V$, and vice versa, because the set of functions $\eta(x)\phi(t)$ for $\eta \in V$ and $\phi \in L^2([0, T])$ is dense in W . Thus, relation (3) is well defined for $v \in W$ and $\eta \in V$.

The questions of interest are: a) Is the weak solution unique? b) Does it exist globally, that is, for all $t \geq 0$? c) How does it behave as $t \rightarrow \infty$? d) Is it smooth if the data are smooth? e) Does the smooth solution to (1)-(2) exist globally? f) Does its smoothness improves if the smoothness of the data improves?

These questions were discussed in several books and many papers, see [1]-[7] and references therein. Existence of the weak solutions was proved in [5]-[7], but its uniqueness was not proved, and, for a long time, it has been an open problem to prove uniqueness of the weak solution. Local existence of the smooth solution and its uniqueness was proved in the cited books. The smoothness properties of the weak solution are improving locally if the

smoothness of the data improves. Methods for proving this are developed in [3],[5]-[7], where theorems of this type can be found.

Let $W_1 \subset W$ denote a subset of W that consists of the elements v such that

$$\|v(t)\| \leq c. \tag{4}$$

By c here and below various positive constants, independent of t , are denoted.

The basic results of this paper include the proof of the uniqueness of the weak solution $v \in W_1$ and the decay estimates for the weak solutions as $t \rightarrow \infty$.

Theorem 1.1. *Problem (3) has at most one solution $v \in W_1$.*

Theorem 1.2. *A weak solution in W exists globally and decays exponentially fast as $t \rightarrow \infty$ provided that the force term decays sufficiently fast.*

The decay estimates for the solution of problem (3) are given in Lemma 2.1.

The known sufficient condition for the uniqueness of the weak solution is the Serrin's condition (see [7], p.276). If $v \in W_1$, or inequality (21) (see below) holds, then the Serrin's condition holds. Therefore, the result of Theorem 1.1 can be obtained as a consequence of the Serrin's uniqueness result (cf Theorem 1.5.1 on p.276 in [7]). Our proof is based on the estimates given in Lemma 2.1, it is short, and it uses minimal background.

The exponential decay of solutions to Navier-Stokes equations has been discussed in [7], p. 337, for the domains for which the Poincaré inequality holds. Our proof is different and shorter. Moreover, our estimates are valid, in contrast to the ones in [7], also in the case when the data do not decay exponentially fast as $t \rightarrow \infty$, see the last statement in Lemma 2.1. We derive estimates using a nonlinear differential inequality. The presentation in this paper is essentially self-contained.

In section 2 a proof of Theorem 1.1 is given and estimates of the solution as $t \rightarrow \infty$ are derived in Lemma 2.1. In Section 3 a proof of the existence part of Theorem 1.2 is given. In Section 4 the case of unbounded domain is discussed.

2. Proof of Theorem 1.1

2.1. Some inequalities.

If $D \subset \mathbb{R}^3$ is a bounded domain then $\dot{H}^1(D) \subset L^q(D)$, $q < 6$, and

$$\|v\|_{L^4(D)}^2 \leq c \|v\|_{L^2(D)}^{1/2} \|\nabla v\|_{L^2(D)}^{3/2} \leq \epsilon \|v\|^2 + \frac{c}{4\epsilon} |v|^2, \quad \forall \epsilon > 0. \quad (5)$$

Similar inequalities hold also if $D = \mathbb{R}^3$. For example,

$$\|v\|_{L^4(\mathbb{R}^3)}^2 = 2 \|v\|_{L^2(\mathbb{R}^3)}^{1/2} \|\nabla v\|_{L^2(\mathbb{R}^3)}^{3/2} \leq \epsilon \|\nabla v\|_{L^2(\mathbb{R}^3)}^2 + c(\epsilon) \|v\|_{L^2(\mathbb{R}^3)}^2, \quad (6)$$

where $\epsilon > 0$ can be arbitrarily small, and the Young's inequality was used.

Let $\eta = v$ in (3) and get

$$|v|^2 + 2\nu \int_0^t \|v\|^2 ds = |v^0|^2 + 2 \int_0^t (f, v) ds \leq c + \int_0^t |f| |v| ds, \quad (7)$$

where $((v \cdot \nabla)v, v) = 0$ if $\nabla \cdot v = 0$ and $v|_S = 0$. If $\int_0^\infty |f(s)| ds < \infty$, then Lemma 2.1 (see formula (14) below) yields the estimate $\sup_{t \in [0, T]} |v(t)| \leq c$.

This estimate and inequality (8) imply that $\sup_{t \in [0, T]} \int_0^t \|v(s)\|^2 ds \leq c$.

2.2. Large-time behavior of solutions.

Let us derive some estimates from (7). Denote

$$g(t) := |v|^2, \quad G(t) := \|v\|^2, \quad b(t) := |f|.$$

Differentiate (7) with respect to t and get

$$g'(t) + 2\nu G(t) = 2(f, v) \leq 2b(t)g^{1/2}(t). \quad (8)$$

As was mentioned below formula (3), the derivative v' exists in the sense that for all $\eta \in W$ one has $(v', \eta) \in L^1([0, T])$ if $v \in V$. Let us assume that

$$\lim_{t \rightarrow \infty} b(t) = 0, \quad \lim_{t \rightarrow \infty} \frac{b'(t)}{b(t)} = 0. \quad (9)$$

If D is a finite domain then

$$\|v\|^2 \geq c_D |v|^2, \quad v \in \dot{H}^1(D), \quad c_D = \text{const} > 0. \quad (10)$$

Thus, $G \geq c_D g$, and inequality (8) implies

$$g' + 2\gamma g \leq 2b(t)g^{1/2}, \quad \gamma := \nu c_D > 0, \quad t \geq 0. \quad (11)$$

Lemma 2.1. *Assume that $g \geq 0$ and inequality (11) holds. Then*

$$g^{1/2}(t) \leq e^{-\gamma t} g^{1/2}(0) + \frac{1}{2} \int_0^t e^{-\gamma(t-s)} b(s) ds, \quad (12)$$

and

$$g(t) \leq 2e^{-2\gamma t}g(0) + \frac{1}{2} \left(\int_0^t e^{-\gamma(t-s)}b(s)ds \right)^2. \quad (13)$$

Assume that $b(t) > 0$ and conditions (9) hold. Then

$$\lim_{t \rightarrow \infty} \frac{\int_0^t e^{-\gamma(t-s)}b(s)ds}{b(t)} = \frac{1}{\gamma}, \quad \gamma > 0. \quad (14)$$

Proof of Lemma 2.1. Let $h(t) = g(t)e^{2\gamma t}$. Then $h(0) = g(0)$. Equation (11) implies $h' \leq 2b(t)e^{\gamma t}h^{1/2}$. So,

$$h^{1/2}(t) \leq h^{1/2}(0) + \int_0^t b(s)e^{\gamma s} ds,$$

and (12) follows. Inequality (13) follows from (12) since $(a+b)^2 \leq 2(a^2+b^2)$. Relation (14) follows from the L'Hospital rule and conditions (9). \square

Lemma 2.1 is proved. \square

Remark 1. If $b(t) = 0$ for $t > t_0$, then (13) yields

$$g(t) \leq 2e^{-2\gamma t}g(0) + \frac{e^{-2\gamma t}}{2} \left(\frac{e^{\gamma t_0} - 1}{\gamma} \right)^2 = O(e^{-2\gamma t}).$$

If $b(t) = O(e^{-kt})$ and $k < \gamma$, then $g(t) \leq O(e^{-2kt})$. If $k > \gamma$, then $g(t) \leq O(e^{-2\gamma t})$. From (9) and (11)–(14) one gets $g'(t) \leq O(e^{-\gamma t} + b(t))$. If $b(t) = O(e^{-\gamma t})$, then

$$g'(t) \leq O(e^{-\gamma t}). \quad (15)$$

Estimates in Lemma 2.1 and Remark 1 prove the part of Theorem 1.2. that deals with large-time behavior of the solution to (3). The last statement of Lemma 2.1 allows one to prove decay estimates when the decay of the data f , as $t \rightarrow \infty$ is much slower than an exponential. Remember that $b(t) = |f(t)|$ is defined by the data. Conditions (9) and the last statement of Lemma 2.1 allow one to estimate the rate of decay of the integral in formula (12). Conditions (9) hold, for example, if $c_1 t^{-a_1} \leq b(t) \leq ct^{-a}$ and $|b'(t)| \leq ct^{-a-1}$, where $0 < a_1 \leq a$, so the decay of the data is much slower than an exponential. This case is not covered by the results in [7]. \square

2.3. Proof of the uniqueness of the solution to (3) in the space W_1 .

Suppose that $v, w \in W$ solve (3). Let $u = v - w$. Subtract (3) with w in place of v from (3) and get

$$(u', \eta) + \nu((u, \eta)) + ((u \cdot \nabla)v, \eta) + ((w \cdot \nabla)u, \eta) = 0, \quad \forall \eta \in W. \quad (16)$$

Take $\eta = u$ and use the relation $((w \cdot \nabla)u, u) = 0$ which holds for $u, w \in W$. Denote $h := |u|^2$, $H := \|u\|^2$. Then relation (16) and Hölder's inequality yield

$$h'(t) + 2\nu H(t) \leq \|v(t)\| \|u\|_{L^4(D)}^2 \leq c \|u\|_{L^4(D)}^2, \quad (17)$$

where the assumption $\|v(t)\| \leq c$ was used. From (17) one gets

$$h(t) + 2\nu \int_0^t H(s) ds \leq c \int_0^t \|u\|_{L^4(D)}^2 ds. \quad (18)$$

Using inequality (5) one gets

$$\|u\|_{L^4(D)}^2 \leq c |u|^{1/2} \|u\|^{3/2} \leq \nu H + c(\nu)h, \quad (19)$$

where the Young's inequality was used.

Since $H \geq 0$, inequalities (17) and (19) yield $h' \leq ch$, and $h(0) = 0$ by the assumption. Therefore

$$h(t) \leq c \int_0^t h(s) ds, \quad h(0) = 0. \quad (20)$$

This implies that $h = 0 \forall t \geq 0$. The assumption (4) was crucial for the proof. Theorem 1.1 is proved. \square

Remark 2. A slight variation of the above argument shows that the additional assumption (4) can be replaced by the assumption

$$\int_0^t \|v(s)\|^4 ds \leq c. \quad (21)$$

Recall that $c > 0$ is independent of t .

3. Global existence of the weak solution

In this Section the existence part of Theorem 1.2 is proved. The exponential decay of the solution follows from the estimates proved in lemma 2.1 provided that $b(t) = |f|$ decays exponentially fast. If the weak solution exists globally and is unique, then a smooth solution, if it exists globally, has to be equal to the weak solution due to the uniqueness of the solution. Therefore, the weak solution has to be smooth if a smooth solution exists.

The global existence of the weak solution was proved, for example, in [5]-[7]. We give a slightly different proof. Let $D \subset \mathbb{R}^3$ be a bounded domain. Denote by $\{\phi_j\}_{j=1}^\infty$ the eigenvectors of the Stokes operator $-P\Delta$ in $H = L^2(D)$, where P is the Helmholtz-Leray projector (see [1], [5], [6] or [7]).

These eigenvectors are orthonormal in H , and form a basis of V . They solve the problem:

$$-P\Delta\phi_j = \lambda_j\phi_j, \quad \phi_j \in V; \quad 0 < \lambda_1 \leq \lambda_2 \leq \dots, \quad \lim_{j \rightarrow \infty} \lambda_j = \infty; \quad ((\phi_j, \phi_i)) = \lambda_j\delta_{ij},$$

where δ_{ij} is the Kronecker symbol. Let us look for a solution to (3) of the form $v_m = \sum_{j=1}^m c_{jm}(t)\phi_j(x)$, where $c_{jm}(t)$ are unknown functions. If v_m is substituted in equation (3) with $\eta = \phi_j$, then one gets:

$$c'_{jm}(t) + \nu\lambda_j c_{jm}(t) + ((v_m \cdot \nabla)v_m, \phi_j) = (f, \phi_j) := f_j(t), \quad c_{jm}(0) = (v^0, \phi_j). \quad (22)$$

Multiplying this equation by c_{jm} , summing up over j from $j = 1$ to $j = m$, taking into account that

$$((v_m \cdot \nabla)v_m, v_m) = 0, \quad \sum_{j=1}^m \lambda_j c_{jm}^2 = ((v_m, v_m)) := G_m,$$

and denoting

$$g_m := g_m(t) := \sum_{j=1}^m c_{jm}^2(t),$$

one gets

$$g'_m + 2\nu\lambda_1 g_m \leq g'_m + 2\nu G_m \leq 2|P_m f|g_m^{0.5}, \quad (23)$$

where the inequality $\lambda_1 g_m \leq G_m$ was used, λ_1 depends on D , and

$$P_m f := \sum_{j=1}^m f_j \phi_j, \quad \lim_{m \rightarrow \infty} |P_m f - f| = 0.$$

Inequality (23) and Lemma 2.1 imply that

$$g_m(t) \leq ce^{-2\gamma t}, \quad (24)$$

where $\gamma := \nu\lambda_1$, the constant $c > 0$ does not depend on m , and it is assumed that $|f(t)| \leq O(e^{-2\gamma t})$. The system (22) of ordinary differential equations with the quadratic nonlinearity

$$((v_m \cdot \nabla)v_m, \phi_j) = \sum_{p,q=1}^m c_p(t)c_q(t)((\phi_p \cdot \nabla)\phi_q, \phi_j)$$

has a local solution by the standard result. Estimate (24) shows that the local solution is bounded uniformly with respect to t , and, consequently,

the functions $c_{jm}(t)$, $1 \leq j \leq m$, exist globally, that is, for all $t \geq 0$. Furthermore, there exists a subsequence, as $m \rightarrow \infty$, denoted c_{jm} again, that converges weakly in $L^2([0, T])$ to a sequence $\{c_j\}_{j=1}^\infty$, $c_j = c_j(t)$. From the estimate (24) one concludes that

$$g(t) := \sum_{j=1}^{\infty} c_j^2(t) \leq ce^{-2\gamma t}. \quad (25)$$

Therefore, $c_j(t) = O(e^{-\gamma t})$ as $t \rightarrow \infty$. Moreover, $\int_0^t G_m(s)ds$ is bounded uniformly with respect to m and $t \geq 0$. To prove this one uses an inequality similar to (7):

$$g_m + 2\nu \int_0^t G_m(s)ds \leq g_m(0) + 2 \int_0^t b(s)g_m^{1/2}(s)ds,$$

and an estimate of $g_m^{1/2}$ similar to (12). It follows from (25) that $\sum_{j=1}^\infty c_j^2(t) \in L^\infty([0, T])$. If the subsequence c_{jm} converges weakly to c_j , then v_m converges weakly to a function v in W . Let us check that the limiting function $v = \sum_{j=1}^\infty c_j(t)\phi_j$ solves (3). Integrating equation (3) with respect to t one obtains

$$(v, \eta) + \nu \int_0^t ((v, \eta))ds + \int_0^t ((v \cdot \nabla)v, \eta)ds = (v^0, \eta) + \int_0^t (f, \eta)ds, \quad \forall \eta \in V. \quad (26)$$

Let us compare (26) with the relation

$$(v_m, \eta) + \nu \int_0^t ((v_m, \eta))ds + \int_0^t ((v_m \cdot \nabla)v_m, \eta)ds = (v_m^0, \eta) + \int_0^t (P_m f, \eta)ds. \quad (27)$$

Passing to the limit $m \rightarrow \infty$ in (27) yields (26). The passage is straightforward in all the terms, except for the term $\int_0^t ((v_m \cdot \nabla)v_m, \eta)ds$. This term can be rewritten as $-\int_0^t (v_m v_m, \nabla \eta)ds$. The embedding operator from V to H is compact. Therefore the weak convergence of v_m in $L^2([0, T]; V)$ implies the convergence of the term $-\int_0^t (v_m v_m, \nabla \eta)ds$ to the integral $-\int_0^t (vv, \nabla \eta)ds = \int_0^t ((v \cdot \nabla)v, \eta)ds$. Thus, one can pass to the limit in (27) and get (26). If equation (26) holds, then one can differentiate (26) with respect to t and obtain relation (3) for all $\eta \in V$. The set of the products $\eta h_j(t)$, where $\eta \in V$ and the set $\{h_j(t)\}$ forms a basis of $L^2([0, T])$, is dense in the set W in the norm of $L^2([0, T]; V)$. Therefore, if relation (3) holds for all $\eta \in V$ it holds also for all $\eta \in W$. Consequently, the limiting function v satisfies (3). The existence part of Theorem 1.2 is proved. \square

4. Unbounded domain

Assume in this section that $D = \mathbb{R}^3$. Then inequality (10) does not hold. We want to outline the proof of the uniqueness result similar to Theorem 1.1 for unbounded domain \mathbb{R}^3 . Using inequality (6) one gets an analog of inequality (18)

$$\|u\|_{L^4(\mathbb{R}^3)}^2 \leq \nu H(t) + ch(t). \quad (28)$$

This inequality and an inequality similar to (17) yield an analog of inequality (20), and the uniqueness theorem follows as in the case of a bounded domain D . This yields

Theorem 4.1. *If $D = \mathbb{R}^3$ then problem (3) has at most one solution in W_1 .*

Acknowledgment. The author thanks Dr. N. Pennington for a discussion.

References

- [1] C. Foias, O. Manley, R. Rosa, R. Temam, Navier-Stokes equations and turbulence, Cambridge Univ. Press, Cambridge, 2001.
- [2] T. Kato, Strong L^p -solutions of the Navier-Stokes equations in R^m with application to weak solutions, Math. Z., 187, (1984), 471-480.
- [3] O.A. Ladyzhenskaya, The mathematical theory of viscous incompressible flow, Gordon and Breach, New York, 1969.
- [4] L. Landau, E. Lifshitz, Fluid mechanics, Pergamon Press, Oxford, 1987.
- [5] J.L. Lions, Quelques methodes de resolution des problemes aux limites nonlineaires, Dunod, Gauthier-Villars, Paris, 1969.
- [6] R. Temam, Navier-Stokes equations. Theory and numerical analysis. North Holland, Amsterdam, 1984.
- [7] H.Sohr, The Navier-Stokes equations, Birkhäuser, Basel, 2001.